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Measurement Review 

Fill in the circle next to the correct answer.

1. 
  The line above measures

 a) 1 in. 

 c) 3 cm.
 b) 4 cm. 

2. 1 lb. of feathers equals
  
  

 a) 10 oz. 

 c) 16 g.
 b) 16 oz. 

 d) 10 g.

3. 14 pints equals

 
 a) 7 quarts  

 c) 7 gallons
 b) 26 cups 

 d) 6 quarts

4. 1 liquid oz. equals about 
 a) 3 ml.      

 c) 30 ml.
 b) 60 ml.    

 d) 1 liter

5. A liter equals a little more than 
 a) 1 cup 

  c) 4 pints
 b) 2 cups 

  d) 1 quart

6. 5 Tons equals 
 a) 1,000 lbs. 

 c) 4,000 kg.
 b) 10,000 lbs. 

 d) 10,000 kg.

7. How many days are in May and
 June together?

 a) 60 

 c) 62
 b) 59 

 d) 61

8. How many days are in two non-leap years?
  a) 730 

 c) 731
 b) 732 

 d) 728

9. How many minutes are in 8 hours?
  a) 540 

 c) 560
 b) 480 

 d) 420

10. How many hours are in 1 week?
  a) 120 

 c) 144
  b) 168 

 d) 192

11 How many minutes are in 12 hours?
 a) 720 

 c) 600
  b) 240 

 d) 480

12. What is the elapsed time between
 1:30 p.m. and 3:48 p.m.?

 a) 2 hours, 28 min. 

 c) 2 hours, 18 min.
  b) 3 hours, 18 min. 

 d) 3 hours, 28 min.

 d) 1     in.1
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